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QID : I + In the following question, select the related word pair from the given alternatives.
Rain:Clouds::?:7?

Fyefaf@a ny i Ry g freeal 3 @ w@itm = gm #t gfig)

auf:arEw::?:?
Options:

1) Rice : Food
arad g

2) Grey : Colour
gd @

3) Heat : Sun
mii .

4) Snow : Mountains

af ofa

Correct Answer: Heat : Sun
i g

Candidate Answer: Heat : Sun
- gt

QID: 2 - In the following question. select the related word from the given alternatives.

Cactus : Plant : : Rice : ?
Prefaf@a nu F Ry o Raeat F @ g9@fda s= &t g

S e e ?
Options:

ikl I) Basmati

2) Crop

L Cl

3) White

ahe

4) Rabi

el

Correct Ar .

puhacth Correct Answer: Crop

Candidate A .

wae nswer:

QID : 3 « In the following question, select the related word from the given alternatives.
Pirii : Colour : : Eagle : 7
Prfai@a s i Ry g Rl § @ @&t vz @t gfg

et e s ?
Options:

1) Black

LAty

2) Symbol
g

3) Bird
gzt

4) Sky

HTHIL
Correct Answer: Bird
qzft

Candidate Answer: Bird

QID : 4 « In the fonowing question, select the related letter pair from the alternatives.

TOM: NIG::?2:?



Preafaf@a ww F fag g fewal f J w4 ser g # g

TOM: NIG::?:?
Options:
1)EAT :YUN
2)EAT:

XXM 3)

FAT ;

LMV

4) EAT ; ZxC Correct EAT ; WN
candidate Answer. NOT
ANS%'ERED 1

QID : 5 « In the following question, select the related letters from the given alternatives.
LERI: PJVN :: MONT:?
Frafaf@a oy d fag g el § & gafla sart & gfg

LERI: PJVN :: MONT:?
1y

WRTY

2)

QTRY

4)ROYB

Correct \nswer: QTRY
candidate Answer. I NOT
ANSWERED I

QID : 6 - ithe fOBOWing question, select the related letters from the givenalternatives.
SAT:WEX::MET:?

Prefaf@a o o Ry 1y Rt § J il et ) gig
SAT:WEX::MET:?

I

Options:

1) AQI

3) FHY

4) QIX Correct \nswer:QIX

candidate Answer. 1 NOT
ANSWERED 1

QID : 7 « In the fonowing question, select the related number from the given alternatives.



43:7::23:?
rfat@a uy  fag g feeal # § dafia gem &t 9o

43:7::23:?

Options:
1)6

2)4
3)7

4)5
Correct Answer: 5
Candidate Answer: 4

QID : 8 - In the following question. select the related number from the given alternatives.
38:53::53:7

Fr=faf@a ow F Ry my Reeat § | @6fda dwn &t g
38:53::53:7

Options:

1)72

2) 68
3)79

4)87
Correct Answer: 68
Candidate Answer: 68

QID : 9 - In the following question, select the related number front the given alternatives.
9:81::11:?

frafat@a wa A fag 7y freredt § 3 Fafia g &t i)

9:81::11:?
Options:

1) 7B

2)93

3)121

4) 146

Correct \nswer:121
dateAnswer: 121

QID : 1O - In the following question. select the odd word from the given altematives.

Frafafla uw F Ry g Reseat 7 8 R s & g
Options:
1) Goggle
s
2) Purse
o
3) Accessories
e

HET
4) Belt
£ 4

Correct Answer: Accessories
e

Candidate Answer: ACCesS¥ries

QID : I - In the following question. select the odd word from thegiven altematives.



Frfataa w7 fag g feedt 3§ @ R o & 9
Options:

1) Grapes

R

2) Guava
HAEL

3) Cauliflower

4) Orange

Hau

Correct Answer: Cauliflower

Candidate Answer: Cauliflower

QID : 12 - In the following questicm. select the odd word from the given alternatives.
Frferi@a wy F R g Rewl § @ far g &

Options:

I Sparrow

ranEar
2) Rat

LG

3) Ostrich
4) Parrot
drar

Correct Answer: Ri¢
-

Candidate Answer:

T Rat

QID : 13 « In the following question, select the odd letters from the given alternatives.
Prefafa s o Ry 1 Rreeat 7 & R sierll Fgpeo|

Options:

1)GCXTO

2)KGBXS

3)RNIEX

4)QMHOY
Correct Answer: RNIEX

candidate Answer. NOT
ANSWERED 1

QID : 14 « In the fonowing question, select the odd letters from the given alternatives.

Prefaf@a uw F Ry mg Rewal § F Reg swd 5

gf*el
Options:
1) SOKG
2) ABSO
3) RNIJF
4) cyrp Correct CYTP candidate Answer. | NOT ANSWERED 1

QID : 15 « In the following |uestion,select the odd letters from the given alternatives.

frfatad w7 fay g feeat 3§ 2 Ry sierdd &1 9fig)
Options:
1)KNQ
2)DGJ
3)wzB

4)Twz
Correct WZB
Candidate Answer: WZB



QID : 16 - In the following question. select the odd number from the given alternatives.

frfai@a uw F fay g freedt @ R dam &t gfw

Options:

) 7-11

2) 12-16
3) 14-18

4)9 -15

Correct 9—15

Answer: 9 — 15

QID : 17 - In the following question. select the odd number from the given alternatives.

Frrfaf@a mw F fay g freedt # A R Fwm &t gfw)

Optons:
) 2-4

2) 39
314-1B

4) 5-25

Correct 4—IB

Answer: 4 —1B
QID : 18 - In the following question, select the odd number pair from the given alternatives.

Frafaf@a oy F e e Rt F @ R
Opt'ons:

76 -422)92-20
3)73-21
4)93 -27

CorrectAI3bY3: 92 — 20cand'date
Answer. HOT ANSV."ERED

QID : 9 « Arrange a“men words [ the sequence wehich they occrr One dicuonary

1.Flagmnt
2.Flawur
3. roamer

4. puck
5. Flawed

Prafafla vt ) st F o o o & e B

1. Flagrant
2. Flavour
3. Flatter
4. Flick

5. Flawed Options: 1) 13254

2)31254
3)23541

4)3254'
Correct Amun: 13254
Cand'date Answer: 31254

QID : 20 » Accoretn to d'ctonary, wh'ch of the T[owing woed commr a: THIO peosmon?
1. Hemane

2. Helpful

3. Hecne
4, Hero*“c

5. Heroe3t



Tz 3Tn?, Wiaiad F @ @ @ o= fR wEn?

1.Heritage
2. Helpful
3. Hecuc
4. Hero'c
5. Heroemn

1)Hecr'c

2)Heriirne
3) Hero] ¢
4) Helpful

Correct Amun: Heraane
Cand'date Answer: Hertiiame

QID : 21 - From the given alternatives, according to dictionary, whic

f2g 7y frereat 4 /), wezaty & HER, B | v odfde wE w s core a! LAST pos'tion?

Opt'ons:

1) Juaenlle

2) Justify

3) Judge

4) Justice

Correct Answer: Juvenile

Candidate Answer: Juuerole

QID : 22 A series g'ven with ore lerm N$8iNg-Select the corm! anernat've ot the dueco ones tiat wi]l theseries.
FMT,2,H0

e e e man @, o & oo we g ) g g Rt F @ 9wt Reea gfig, st s @ gm )

EM, 1.7.160
2)C

3)A

40
Correct Answer:A
Candidate Answer. A

QID : 23 - A series is given with one term missing. Select the correct altemative from the given ones that will
complete the series.

ROK, LIE, FCY, ZWS, ?

o S Rear man 3, e @ oo oe @@ @1 Ry g Rasedt § @ o ot Raea afg, ot srmm st go s
ROK, LIE, FCY, ZWS, ?

Options:

1)LAQ

2)SRV

3)TQM

4)FMQ

Correct Answer: TQM

Candidate Answer: TQM

QID : 24 « A series is given With one term missing. Select the Correct alternative
from the given



FAQ, LGW, RMC, 7, DYO far mate, for«d

I gk wz g 31 Ry g Reseat § @ a8 98 e gitg, ot s

FAQ, LGw, RMC. OYO
Options:

1y

VIR

2)

XSI

3)

LSI

4) MIS

Correct XSI

candidate Answer. I NOT

ANSWERED |

QID : 25- In the following question. select the missing number from the given alternatives.
14, 22.49, 113,238, ?

Frafaf@a ow # Ry g Reedt f @ g@ siw 30 Hifog

14, 22, 49,113,238, ?

Opt ions:

1) 386

2) 532

3) 454

4) 576 Correct 454
candidate Answer. I NOT
ANSWERED I

QID : 26 « In the fONOWing
42,21,21,31.5 63,7

Prefaf@a uw i g g Rl o @ g o s HHforg

select the missing number from the given alternatives.

42,21,21,31.5,63,?
Options:

1) 169.75

2) 157.5

3)152.5

4) 126.75

Correct Answer: 157. S
candidate Answer. NOT
ANSWERED 1

that Will *0mpletéthe Series,



QID : 27 - In the following question. select the missing number from the given alternatives.
14, 44, 135, 409, 1232, ?

fFrefaf@a nu F Ry m Rewt § @ g@ sis s fifog

14,441

Options:135.409, 1232, ?
1)2962

2)3340

3)3702

4)3406

Correct An Swe. 3702 candidate

Answer. | NOT ANSWERED I
QID : 28 - E is sitting between D and A, Bis to the right of A, £is at one of the ends and §and D are sitting next

E DR A& da &z 8, B, A& 2Rl ok B, C, var R wr & 9k € iR D Uan 2 & e o 4% §1 e i w ks A 2
Options:

10

2)A

3)B

4)E O are Sitting next to each Other.
Who is Sitting third?

Correct Answer: E

Candidate Answer: E

QID : 29 - Showing g photograph of § married couple [Rsaid that the gentieman in it was his father’s father and A said that the lady in it was her fother. HowisA
related to B?

U AR Wi 3 Wie) fEnd 5 B A @ 6 3t ot woor § @ gud R & e 4 of A 3 o 6 7w ot S @ ag st ot A, B ® e awg w82

Options:

1) Ais B's mother's sister
ABHruiRagad

2) Ais B's sister
ABHRaga

3) A is B's Father's sister
ABFRarHragd

4) A is B's mother
ABHA R

Correct Answer: A is B's Father's sister
ABFRaHragad

Candidate Answer: A is B's Father's sister
AB& R & agad

*fiat?

QID : 30 « From the given alternative words select the word which cannot formed using the letters of the given word.
MERCANTILE

Pt Reeal 3§ 3 9g v gy &t g g ae & serl @1 w5 A @ o gaan

MERCANTILE

Options:
1) truce

2) learn
3) trace

4) claim
Correct Answe: truce
Candidate Answer. truce

QID : 31 - If OLYMPUS is coded as MIWKNSQ, then how will TEN be coded as?
aRROLYMPUS MIWKNSQ far sirai & & g &t s # o i



1)
RCL
2)
GVM

3)SDM

4)UFO
Correct inswer:RCL
candidate Answer. NOT ANSWERED 1

QID : 32 - In a certain code language, 1875 means *wound the round watch, 6143 means cake is round' and 7321 means Watch a round wheer. Find

the code for 'watch.
et FAfRa @t v 5 1875 &1 31 & ‘wound the round watch', 6143 @1 371¢f & ‘a cake is round’ 31z 7321 @1 314 @ ‘watch a round wheel'| ‘watch' & fag &g 31d @e1

Options:
)1
2)8
3)5

a7
Correct Answer: 7
Candidate Answer: 7

QID : 33 - In a certain code language, '+ represents ', ' represents 'x', X’ represents +' and '+' represents '+, Find out the answer to the following question,

96x4+ 125.25-5.?
et AfRa stswmrd ', s ueffa s 8, |, '« @) gefilfa wear 8, ', '+ ) wefdfa o § o '+, '+ @) wefla wear &1 Freafaf@a ow s sm sa 8

96x4+125+425-5=7
Options:

1)23

2) 24

3) 50

Correct Answer: 24

Candidate Answer: 24

QID 34.1f 17 $22 4 and 56 $ 13 7, then find the value of 71 $ 25 - ?
17$ S 7, $
Options:

) 56

2)96

Correct Answ: 1
candidate Answer. NOT ANS%'ERED 1

QID : 35« If A'$ B means A is son of B, A # B means A is brother of B and If A * B means A is father of B, then what loesX * Y Z $ W mean?



TRRASBH ISR ABF AR ALBHF I RRHEA B wrd R
Options:

1) Wis X's brother’s wife

W, X & v Y oit &

2) Wis X's wife

W, X & o=t

3) Wis X's mother

W, X & Hi g

4) Wis X's sister

W, X Fragad

Correct Answer: W is X's brother's wife

W, X & wié $ ot 2 hat A s BRag A B RMEAXE Y ¢ Z $

W@ a0
Candidate Answer. | NOT ANSWERED I

Select the missing number from the given responses

fg o frerel F & ow wEar g

1 4 2

3 12

Options:
1)3

2)9
3)3

4)11
Correct 1
Candidate Answer: 9

QID : 37 « Which of the following terms follows the trend of the given list?
BBXRKB R K KRR KB RERKE KR e
Frafof@a & 8 ' w e & i w@f & o0 & sEr

00XXXXX, OXOXXXX, OXXOXXX, OXXXO0XX, OXXXXOX,

Option s:
1) X0Xxx X0
2) XOXXX0X
3) OXXX0OXX
4) OXXXXX0 correct Answer: OXXXXXO

Candidate Answer: OX XXXXO

QID : 38 - A scientist is studying the behaviour of an ant. The ant picks food and walks 5 cm North, then it turns to its right and walks for another 11 cm. then it turns
right and walks 3 ¢m, then it turns West and walks 15 cm, then finally it turns to its left and walks 2 cm, Where is the ant now with respect to its starting point?

v At difeat & aragr &1 s o g @) S @ Savee 5 e s A ol gach @ ol R g aifRR ol geew 11 d8fier e @1 R gz ga afdeh o e
Hénfrey gt & ok R ap ofim &1 o ggae 15 e aadt &1 ofF & ap oo ard ofe qadt & ol 2 Féter weredt @1 <61 o aroit nifaves fafy @ o #2
Options:

1) 4 cm East
4 Ffier



2) 26 cm west
26 :atpfia gfaq
3) 4 Cm West

4 ufiq
4) 26 Cm East
26

Correct Answer: 4 cm West

Answer: 4 Cm West

QID : 39 » Two football players start running from the same point on the ground. Player A runs 10 km East, then turns to his left and runs 13 km. In
meanwhile Player B runs 6 km South, then he runs 3 km East, the he turns to his left and runs 19 km Where is Player A with respect to
Player B?

A. 10 13 ti B,63 8-50*19 B f&qr$t A t?

Options:
1) 7 km West
7

qfQ
g
2)7 km East
3)13 km East
13
4) km west
13 qfUq

Correct Answer: 7 km East

Answer: 7 km East

QID : 40 » In the question two statements are given, followed by two conclusions, I and Il. You have to consider the statements to be true even if it
seems to be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given
statements.

Statement I: Some chapters are physics
Statement I1: All science is physics



1S Ghapias
mm: 1§rﬁieef)ih€$si<:s is science

s # 21 e o § fovads omt 2t e | iR 11 Pt 7 &1 oot wren & @6 26 sy w9 9w | 919 aat 8 e wdia gia gt et ke aen @ f Ry g
real § @ B-a/EE-A R wu A Hua Zr w8 Paen o awar 8/aawd 8, afk wvd gt

T |: T s s §
vy |1 wdl R i @

frend 1: gvit e sara &
Pred 11: o A e &

o)ptlons:
1) Only conclusion | follows
mgwilmﬁa

2) Only conclusion Il follows
Fad nafig

3) Both conclusions | and Il follow

2t Fred | offe || &t &

4) Neither conclusion | nor conclusion Il follows
a1 &t Frened | it & it Preed 11

Correct Answer: Only conclusion Il follows
Faw fred 1 58 8

Candidate Answer: Only conclusion Il follows
Fae Prad 11 5 8

QID: 41 -Inthe qmlhree Statements are given. foliewed Bg,thtee conclusions. I. Il and IIl. You have to consider the statements to be true even if fyseems i pe

at variance from commonly known facts. You have to decide Which Of the given conclusions. if any. follows from the given Statements,

Statement 1: All Success isvi

Statement I1: All luck is success
Statement I1l: Some hard work is luck
Conclusion I: Some success is hard work

Conclusion II: Some hard work is victory
Conclusion lII: No victory is luck

wH # 1 Fya 28 ma § s omi i fead ), 1 s 111 P ma 81 gt s & B dl s 5 @ 9 @ I Fra at @ B adta 31d gl smael
frensl F @ Sa-gyaa-2 PR 03 s99 g o Pae o g &/asa §, ok s e

YA | 7Yt el fawg &
HYA |I: g+ yry g &
FYA |1l T H5a W

Pred 1: 5 T Agea @

Frend |1: g g awaD 2
Foremed 111: 1 Rrova wg 5 &
Options:

1) Only conclusions | and Il follow
e freend | iR L T 8

2) Only conclusions Il and 1l follow
Fa iR ad2

3) Only conclusions 1 and 1l follow
Faa e | ol wd 2

4) All conclusions |, Il and 1l follow

Pk 1, sk mad 2
Correct Answer: Only conclusions | and Il follow
e e | ofik 1w @ 8 nufq tH Ry

candidate Answer. NOT ANSWERED 1

Which of the following cube in the answer
figure cannot be made based on the unfolded
cube in the question figure?



frferRaa SR amasfar & & @i+ | g Ry g oy
STPTer & ot B F IR &l ST Febeir?

-
S~

&

«

=

o
=3

0

O

X

Correct Answ«:




e

Candidate Answer:

>

QD : 43,
Which of the following answer figure pattems can be
combined to make the question figure?
fyferia ST Jmphy § & 3t & wRedl 21
S g ¢ wor ATy Wt AT I e &2

Options:

1)

2)

3)

4

CUFRSdtAnswer:

candidate Answer: [ NOTANSWEREOI
In the fdbwing We. square resyesents



Professors, triangle represents Social

Workers. circle represents Dieticians
and rectangle represents Men. Which
set Of letters represents Dieticians
who are not men?

PrrferRaa R o, At @) wefifa avan &,
Brvger e a8 @) wefifa v &, 9o st
Y 3R e gt @ wefif @war &1 SRt @ o W@
T I St 2 el awar

& o g 1t &7

J

E éﬁm

Options:
1y
EFGI
2)
BDKH
J
3)IGAC

4)DE.JI
Correct Answer: EFGI
Candidate Answer: EFGI

Which Of the following Venn diagrams represents the
relationship between Butterflies, Animals and Insects ?
fr=ferRRaa & & 1 |1 39 R faafert, seRt ik High
& der Gaw gafar 22

1y

2)

O©



3

@
S

Correct Answer:

Candidate Answer:

0:46.

Which answer figure will complete the pattern in the
question figure?

fr=ferRaa & & @0 ST sy w angfer & wfrsy

P g

L/




2)

3)

4)

Correct Answer

QLD



From the given answer figures, select the one in which
the question figure is hidden/embedded.

&Y Y S arpferat ¥ & I ey 3 g e

smepfey Ffear &

Options:
1)

2)

3)

4)

Correct Answer:

Candidate Answer. NOT ANSWERED 1



A piece of paper is folded and punched as
shown below in the question figures. From the
given answer figures, indicate how it will
appear when opened.

T 3Mfoa H R AR BFT B AISHR IH
BT FRA T Gier & 918 I8 5 ITR 3rgpher St
fezams <

2)

3)

4)

O=0

0 0

0 =0

rrect Answer:

Cco

2069
o o

0o




If a mirror is placed on the line MN, then
which Of the answer figures is the right
image of the given figure?

afe ves gdur st MN &1 9R IE&T W10 A & =it IR

STpTrl 3 & BI-Y STPphy wor Pphr BT wE
wferfas grfr?

Z,

X

Correct Answ«:



4
)

Candidate Answer:

X

)

0:50.

A word represented by only me set of as given any one o' The Sets Of
numbers given in the are by two classes of alphabets as shown in given
two matrices. The and Of Matrix-I are from O to 4 and that Of Matrix-
Il are numbered from 5 to 9. A letter from these matrices Can be
represented first by its row and next by its column, for example 'C can
be represented by 43.41 etc and Can represented by 97 78 Similarly,
have to icmtify the set for the word ¢SPAN

W 9 e B HEH-E w st &, S b Rt F & el o
ey & Rt & R T s e & < gt w wwi o €, St s Ry
g & STegel 3 & sl & T i At Bt wer 0 @ 4 v s Hs 9
&1 37 IR W O MR Y IBA IWD G SR grE W R GRY 2w o
T &1 ILER & {0 'CY N 43, 41 TR TR 9FAT A HHAT § AU O B 97,
78 anfe grey gufar o wasar & gt aws & st 9 A Ry e 'SPAN' ¥ e
R B GEAFAT &

Matrix | Matrix . FTEEN
0 1 2 3 a 3 I3 7 5 9

0 M M M i 3 s N v aQ u 3
1 A ™M 1 | A 6 R s 1 v N
2 3 i M i E 7 s z X 0 v
3 i 1 A L 3 s X s v W v
a ) [3 A [ L ] u X ) Y v

Opt ions:

1)66, 8733.56

2)59,78A2.31

3) 86,89,32,55

4) 78,43,2298

Correct Answer: 368932 55
Candidate Answ  Answer: 8689255

QLD : 51 « preliminary expenses are the examples Of



o &g T FLTE0 B

Options:
1) Capital expenditure
oy

2) Capital gain
Y

3) revenue expenditure

ARG 2

4) deferred revenue expenditure
wufitg oo g

Correct Answer: Capital expefditure
oy

candidate Answer. NOT ANSWERED 1
QID : 52 - Which economic activity cannot be included in the tertiary sector?

Feitass & F wta  onfifs nfaRfa wfde wff H s g

Options:
1) Working in a call-centre
et dex o wrd &

2) Tuition occupation
ZQUA FaEY

3) Bee-keeping
wgrd)

urEs
4; Banking
Correct Answer: Bee-keeping
Heygwerdt ure

Candidate Answer: Working in a call-centre
fer dez ¥ ol e

QID : 53 - Which of the following statement is true for the Public Sector unit?
frefafaa § & @9 & &4 Gl e 3 & o 981 82

Options:
1) Most of assets is owned by a group of people
m’ ummmamgm%ags&mmt

2) Most of assets is owned by big companies
iftrant uftwafeal 38t dufat & wnfae 5 gidt 2

3) Most of assets is owned rnment
m)ﬁmu ofziafyat averd uga% 2

4) Most of assets is owned by an individual
it uftEafal ga et & o g 8

Correct Answer: Most of assets is owned by government
iy oRgufa e @R A aH 2

candidate Answer. | NOT ANSWERED I

QID : 54 « The percentage Of Indies population in the total WPUlBtioNOf the world as 2011 Censusis:
2011 ) SUET & SHER WRA & sen Ry  gesren § e afdm

Options: t?

1)17.5%

2)18.01%

3)19.35%

4)20.25%

Correct Answer: 17.5%

Candidate Answer. | NOT ANSWERED I

QID : 55 « Which of the following five year plan of India recognized human development as the core of development efforts?

Prafafaa 7 | B wredty daadfa gioen 3 3t Rerars ool & aRr & s A gra R @) qegar 2

Options:
1) Ei hthfvveyear plan



HrsdT daadig i

Qﬁ?imh five year plan
ey

3) Tenth five year plan
Zadt daasta gien

4) Eleventh five year p

el mﬂun{vm

Correct Answer: Bighith fiveyearplan
e yearpian

candidate Answer: I NOT ANSWERED I

QID : 56 - Which of the following thinker is associat«i with ethe concept of political sovereignty'?
T & @i e et miae & Seegar & gwifta §7

Options:

1) Maclver

2) Socrates
g

3) Rousseau
=a

3;!8(0

Correct Answer: Rousseau
wat

candidate Answer. I NOT ANSWERED I

QID : 57 - Who said, *A good citizen makes a good State and a bad citizen makes a bad state'?
et wgt U1, ‘U e AIRE G ST 9 FTar & 3R g9 RS §E G0 79 g4

Options:

35!3(0

2) Aristotle

S,
3) G. B. Shaw
Y. «f

4) Rousseau
=4t

Correct Answer: Aristotle

I, t?
Candidate Answer. | NOT ANSWERED I

QLD : 58 « panchayat Semiti at the in India is

a/an rturaa t,

Options:

TR g Fag 1) Advisory Body
2) Coordinating Authority only

Faq gyg

3) Supervisory Authority bnly

Fae gddaft mitao

4) Administrative Auihed

warates wide v

Correct Answer: Adminis Adrninistrative Authority
waEfIaE miie

candidate Answer. NOT ANSWEREOI

QID : 59 - According to Indian Constitution, who decides the salary of members of Parliament?



W ST & SR, §9g & Hewl & da9 o Pk @ a2
Options:

1) Union Council of Ministers

&g dfofez

2) Parliament
Hue

3) Supreme Court
Jeaan ey

4) President of India
HRA &1

Correct Answer: Parliament
daz

Candidate Answer: Union Council of Ministers
(4

QID : 60 « Which one of the following is not correctly matched?

D) Eih th ; Languages
314 -
2) Second Schedule : Form of Oath of office
Fourth Schedule ; Allocation Of Seats in RajyaSabha

4) Tenth Schedule Defection related provisions

Correct Answer: Second Schedule : Form of Oath of office gr&-
q

Candidate Answer: Fourth Schedule Allocation Of Seats in RajyaSabha

QID : 61 « When did the Chinese traveler 'Sung Yuri come to India?
A Al g wRa A s ur?

Options:

1)510A0

5108g.

2)51B AD
518 i

3) 525 AD 525g.
4) 52B AD

52g%

Correct Answer: 518 AD
518%.

Candidate Answer:52B AD
528 g.

QID : 62 « Which among the following state *Odantpuri' education center was situated?
fen F2ARtA & ™ # et 2o A srafe@a o !

Options:

I) Bengal

2)Gujarat

3)Bihar
4 Tamil Nadu

Correct Answer: Bihar

candidate Answer. | NOT ANSWERED 1
QID : 63 - Wm was the founder Of Bahmani Kingdom?



FEHA BTG T HRITE B 917

Options:

1) Hasan Gangu
B M

2) Firoz Shah
i 4

3) Mahmud Gawan

4) Asaf Khan

IEE TH

Correct Answer: Hasan Gangu
T

Candidate Answer: Hasan Gajitgy
B

QID : 64 - During whose rule in India did the Khilafat movement begin?
Wied ¥ e o & Sierta fRewa T=Eter @ SR gan an

Options:
;}ztord Mountbatten
Arede

:g.ord Dalhousie

il

g&éord Chelmsford
SawtE

4) Lord Curzon

a:‘é wt

Correct Answer: Lord Chelmsford
AT s

Candidate Answer: Lord Mountbatten
dfz ardzden

QID : 65 « Who among the following was the founder of the Arya Mahila Samaj the early 1880s?
1880% zareh & WReW # 1 wfgen wwre 1 s e § e i



1) Swami Dayananda Saraswati

@ g |/t
2)Swami Vivekananada
*draft TAAETT

3)Ramabai Ranade
oA T

4) Pandita Ramabal
d#%m wa

9°ﬁ rrect A"‘E wer: BanditaRamabai

Candidate Amswer:
dfEa mrard Ramabai

QID : 66 * Oashtee Kavir Desert is located in which cm_jntry?
Zea-u-amfaR AeRwd e 2a o f@a &2

Options:
1) Iran
2)Saudi Arab

3)Iraq
4)Sudan

Correct Answer: Iran candidate Answer.
INOT ANSWERED 1
QID : 67 - Which of the following layers is called *Barysphere«?
f=fafa @ R o &t “Hafg @y oma 22
Options:
1) Earth's most internal layer
&) wEd yr=lE ua

2) Earth's intermediate layer
gt it merad 9wa
3) Earth's to| t layer

N o R

4) Lowest pan of the atmosphefe where Eggf%fechanges occur
S @ wad A W sl Aen

Correct Answer: Earths most internal layer

Gt wa o

candidate Answer. | NOT ANSWERED I

QID : 68 » The Blue Nile river originates from WhichOfthe

oy e 78 Fyefaf@a 4 @ e ofte A Peed &2
Options:

1) Lake Victoria

it e

2) Lake Tana
ar sfra

3) Lake Edward
zad Ha

4) Lake Albert
e da

Correct Answer: Lake Tana
ar e

Candidate Answer: Lake Edward
sad e

lakes?

India?



Options:
QID : 69 - Wit Gffthe following States: OffImdiia has the largest percentage Offgeographical area under f

g 7= gderor i Rué & srar wa & FrefafRa 4 @ e owg A vnifos sy s gafRs sRwa g @2

Options:
1) Manipur
AioqR

2) Meghalaya
) Meghalay
3) Mizoram
i

4) Nagaland
s area under forest as the report Of the Forest

Survey Of Correct Answ«: Mizoram

it

Candidate
ArMSvE Answer:Naaala

QID : 70 « At which of the follCMing towns the Alaknanda and the Bhagirathi combines to form River Ganga?
Pr=faf@a Rl F s gd st wel e m +8) a=medt &2

Options:

1 F Haridwar

2) Righikesh

HHY

3) Rudraprayag

sSauam

4) Devprayag

Zavram

Correct Answer: Devprayag
Zawar

Candidate Answer: Rishikesh
Eaical

QID : 71 - 'Nirvana Fund' was set up by NSDC for financial help to

gaewEd g Tato &w & e &} frsfta weraen wem & dg g ol
Options:

1) Entrepreneurs from the bottom rungs of society

waTa & e & safagl

2) Displaced Kashmiri Pandits

fAreunfua wofid afdat

3) Old age people having no means of livelihood

SATARBTE Fapt AT f whfaewT a1 s et T 8

Jfenfa wafa SR nfdisa sefizar R & Jomr 8 fen

Correct Answer: Ventures of selected candidates trained under PMKVY but did not get any job.
digmrdtand & siarta aafia o nfdféa owitear OF & o 73 e

candidate Answer. | NOT ANSWERED 1
QID : 72 - Nakul Sewasthya Patra' is a scheme by the Gmernment for which among the following purposes?

4: Venlu\;er; ;f selected candidates trained under PMKVY but did not get any job.



Frefafay 7 & e sdw $ ofd & g wra @R g wga @ o gt g $ o 87

Options:

1) Wellness of animals

gyt & e it e

2) Wellness of animal owners

Ty iferent & e 6 ZEEE g
3) Taking care of lactating mother in the rural areas
m&?ﬂtﬂﬁqyﬁaﬁmﬁmﬁ*mﬁmn

4) Taking care of newborn babies in the rural areas
artor 8 o saeTa el & wreg £ Teva

Correct Answer: Wellness of animals
a it & ware w 2aE ¥

Candidate Answer: Taking care of lactating mother in the rural areas
ardtor &4 f et &t qu et ard srans & @rea & 2evE g

QID : 73 - Which mine of India was in the news recently for becoming the country’s first iron-ore mine to have a solar plant for reducing carbon footprint?

WG $ H-H T FE efiie w0 a & g J @aa i ®gen a7 arel 0 6 o dig-omws @a g & SR EE § 3 9t @7
Options:

1) Talchar mine

deraR W

25 Koraput mine
qd |

3 Noamundi mine
=ﬂ3rrq—gtm
4) Ratnagiri mine

Correct Answer: Noamundi mine

candidate Answer. | NOT ANSWERED 1

QID : 74 « VhereWill the Summer Olympics be held in 2028?
ezttt st w7 2028 F wet smatfora R smom?

1) Sydney

it

2) Paris
s

3) Los Angeles
ag‘u ufdrew

4% Copenhageasn

Correct Amswer: Los Angeles
wifa gforew

candidate Answer. | NOT ANSWERED 1
QLD : 75 « Which Country has WM the 2017 Davis Cup Tournament?
2w wu 2w gtz 2017 B v 3 sftan

Options:

1) Switzerland
ez

2) Serbia
afdfar

3) France

wiE

4) Belarus
Erica:d

Correct Answer: France
wa t?

candidate Answer. NOT ANSWEREOI
WD, 78 {Hhare Uit Rawitten by

garyfE g

Options:
1) Dr. A. P. J. Abdul Kalam
2l g, ft. 3. sregd Fam

2) Khushwant Singh
*rd-aRie



Options:

3) Taslima Nasrin a&iaT*-e-tt-.
4) Arvind Adiga
RfAT sfEn

Correct Answer: Dr. A p 1 AbdulKalam
2. g . 3. srege e

candidate Answer. | NOT ANSWERED I
QID : 77 - The third Indian Council for Cultural Relations (ICCR) Distinguished Indologist Award for the year 2017 was awarded
todapanese professor

ad 2017 & fo dw widta wiepfas ddu ofive (st d.,) ffte wrafle mwm s dikae =t w21

Options:
1) Hiroshi Marui
e mrd

2) Shimamaru Marui
:t{mwsm

3) Nagasaki Marui
ATy 7w

4) Toyota Marui
e aEs

Correct Answer: Hiroshi Marui
Rtft md

candidate Answer. | NOT ANSWERED I
QID : 78 - Which of the following city has became first Indian city to get UNESCO's world heritage

Presfif@ra 3 2 2 a1 g ! ) ey Rrreres 21 @ 271 1A 607 AT IR 60 ST U T8 (e 100
Option s:

1) Jaipur

FaR

2) Ahmedabad
Erecacicd

3) Gandhi

it R Nettar

4) Allahabad

FeETaTS

Correct A§¥% e Ahmedabad
SHEETATL

candidate Answer. NOT ANSWERED 1

QID : 79 - In June 2017, which of the following countries have signed a protocol of co-operation

S 2017 &, Frafafaa 7 & 6 2o 4 sfWaamr & & § gaim & &g g miesa o ganer &y 87

Options:

1) India and Israel

WA a1 ORI

2) India and Portugal

MR U g

3) India and Netherland

WA ayl

4) India and Iran

WA aYT &1 in the field of

archive?
Correct Answer: India and Portugal
HId d4Tgarrra
Candidate Ansv
WA aul He¥E Answer: India and Netherland

QID : 80 « India has signed an agreement to provide USD 31 g million as line of credit for develwing railway sector of which of the following country?
frefaf@a § @ e 2u 51 ura 3 a8 & Rem & B 318 Mt sl gfer 6 52 wrga & werm & & Ry ge waedhar v 22

Options:
1) Bangladesh
2) Nepal

3 china
4 Sri Lanka



Correct Answer: Sri Lanka

candidate Answer: | NOT ANSWERED I
QID : 81 - Dot Matrix is a type of

sfe Aftaw T G THR 1

Options:
1) Tape
2

2) Disk

o=

3) Printer

iR

4) Bus

a«

Correct Answer: Printer

filR

candidate Answer. | NOT ANSWERED I

QID : 82 » The secondary storage devices can only store data but they cannot perform

Tt g Juao ae BT Hufde o v § oy a8 T8 wr g i

Options:
1) Arithmetic operations

Ftorata giarea
2) Logic operations
e aftares

3) Fetch operations
e uftarem

4) All options are gorfFect.
farerea wdt 81

Correct Answer: All 8ptions are correct.
it e & 21

Candidate Answer: All ¢ Answer: All options are Correct, periodic table
o R e &1 P y

QID : 83 - In the modemn metals, metalloids and non metals are foumd in

amufies srad |l o ur
Whichblock?

1) s.alock
s-3ATS

2) p-block

p-&ilaE

3) d-block

d-=ifm

4) f-block

f-&ifen

Correct Answer: p-block
p-adia

Candidate Answer: f-block
f-=ifw

QID : 84 « Cinnabar is ore of which of the following?
Prfaf@a f # Rk e s &2

Options:
1) Magnesium



Options:
Correct Answer: Mercury

2) ium

3) M%(@W@' Answer:

i

:s's':m QID : 85 - In which of the following mirror size of image formed is always ggualto the size of object?
Gorratih Prafaf@a F @ @ Q du 7 pfafae @ srer gt e & sreR & JwrE gl 82
il

Candidate

i

Options: 1)

Convex mirror

EGEEA L

2) Concave mirror

HaaA

3) Plane mirror

A 2qu

4) Both convex and concave mirror
Fur@ dvr qur saas gdvr 2151
Correct Answer: Plane mirror
oA aqor

Candidate Answer: Plane mirror
qade g

QID : 86 - Mass of a hydrogen atom is how many time the mass of an electron?

TR BT URATY] &1 SH G oty & gz o et gtar &2
Option s:
1)1000

2)8000

3)1837

4)5000
Correct Answer: 1837
Candidate Answer: 1000

QID : 87 » Which of the following are Fabrics that may contain polyester?
L Polycot
IL POI"OOI

111. Terrycot
frafafaa J @ a9 3 sugl 7 dfeftoer ¢ 5ea 7

| ffereR

1. gffergs

. Hefe

1) Only and
1 11

2)Only I and
11l
3)only Il and
and I11
Correct Answer: All Il and I11

candidate Answer. | NOT ANSWERED 1
QIDD 88 » Wiitcth Offthe following term does NOT representt electrical power in circuit?

Rrerfarfare & wh  we g wftee 3 Ry o ) Rrefa Tt awan

Options:
1) I°R

2) IR?
3V



4)v2/R
Correct Answer: IR2

Candidate Answer: V2/R

QID : 89 « A positively charged particle projected towards west is deflected towards north by a magnetic field. What is the direction of magnetic field?

ufm ) iR wafe Y wArfRr v Rt i S ERt IR A 3R AR 8 omen &1 e 3w £ Ran zw &2
Options:

1) toward south
z?ﬁm # Ik

2) toward east
) 3R
3) downward

4) upward
Correct Answer: upward
candidate Answer:_ NOTANSWERED

QID : 90 - Which of the following is NOT positively charged?
frafafae § 8 a9 vl T8 22

Options:

1) Alpha particle

HEEHT HOT

2: Proton
3) Helium nucleus
é?@'n IR E]

4) Electron
Correct Answer: Electron

Candidate Answer: Electron
i3

QID : 91 - Which is a wate' soluble Vitamin?
ar et s F gemefta &2
Options:
1) Vitamin A
faaf A
2) Vitamin C
faafdc
Vitamin
ftzrfibl()
4) Vitamin K
AT K
Correct Answer:
fefac Vitamin C



Candidate Answer: Vitamin C

QD : 92,
Match the items given in column (A) with those in
column (B).

Column - A Column B
I.  Frog 1. Skin
11. Leaves 2. Stomata
I1l. Earthworm 3. Lungs and
skin

Y (@) & B 7 a= &1 =W (@) F 9y
Broma Hifam)

A -5 HH-"

. AgH 1. ==

|, ufear 2. I

. g3 3. &S FUT =
Options:
1)1.3,11.2, 111.1 2)
1-1,11.2, 111.3 3)
1.3, 11.1, 111.2

4)1-2.11-1, 111-3

Correct 1-3, 11-2. 1lI-1
Candidate Answer: I3, 11-2, ML

QID : 93 - How many number of char

A g 3 sl H dem e g d
Options:

3 Two

2) Three
Gict

3) Four
TR

4) Five
qrg
Correct Answer: Four

R

Candidate Answer: Three
Gic] Of Chambers are in humanheart?



QID : 94 - Which of the following is NOT presentin a1

o aues 3 Frefafde # @ o oof@a aff st 22

Options:
1) Plasmodesma

ZE Chloroplast

3) Celi wall
faf

4) Vacuole
Riftha
Correct Answer: Plasmodesma

Candidate Answer: Chloroplast
ghaeas fOUOWing is
NOT present in a matured Stomata?
QID : 95 - What is/are the cause(s) of arise hypermetropia?

& g 2 a/3 Fm e /82

Options:
1) Excessive curvature of the eye lens.
A da & agman o i g

2) Elongation of the eye ball.

1 = B
3) Focal length of the eye lens is too j
mmﬁm;ammm. ong.

4) No option is correct.
ELd

Correct Answer: Focal length of the ey
SN S 6wy o @ afdw ghm Of the eye lens

is tCx)long.
candidate Answer. | NOT ANSWERED I

QLD : 96 - Antibiotics are useful for Which type Of infections?
fo waR & dermor & g ¢iarais e gk &2

Options:

1) Only bacteria

Fad :%aw_\

2) Only virus

Fa gvr!g

3) Both bacteria and virus
a!)rqwl aur fermoy 2t

4) Neither bacteria nor virus
7 4t Sftaroy 7 # Ry

Correct Answer: Only bacteria
Fae wirang]

Candidate Answer: Only bacteria
Fare Sty

QID : 97 - Which one of the following is NOT responsible

Frafaf@a 4 @ oY o s oa & & & Re saed @i i
Options:

IF Raﬁid growth of industries
Aqf&

2) Increasing population
gt s

3) Forestation

Rty

4) Mismanagement of water resources
e g S G

Correct Answer: Forestation

o

Candidate Answer: Forestation
PrfafRa J @ 3t ar a3 R 3901

for Water shortat?



Options:
QID : 98 - Which gas is major contributor to greenhouse
v @ g gltae e f w@ afds gt st &2
s:
1) Carbon dioxide
A Fgifearse
2) Chloroflurocarbon
FERITEREAET

3) Sulphur dioxide
R SR HTEEE

4) Nitrogen dioxide
A SrgoiaaTEe

Correct Answer: Carbon dioxide
e BrifeaEe

Candidate Answer: Chloroflurocarbon
FARIGERIEE

effect?

QID : 99 - Which of the following is NOT a major problem in development of resources?
1) Depletion of resources for satisfying the greed of few

individail
2)Accumulation of resources in few hands.

3)An equitable Oof
4)Indiscriminate exploitation of resources.

Correct Answer: An equitable distribution of resources.

candidate Answer. | NOT ANSWERED 1

QID : 100 - Which Of the following is NOT man made ecosystem?
Frefaf@a & & o o ae Bl ofRf@d daaff 22

Options:
1) Orchards
T

2) Home aquarium
v‘qzmﬁm

3) Botanical gardens
Faaia-3aE

4) Grassland
°TH BT

Correct Answer: Grassland
T & Az

Candidate Answer: Grassland
T & Ae

QID : 101 - Which of the following represent the crushing strength (MPa) for the good quality stone that are used in the construction of buildings?
Frfaf@a 7 @ @i deem g garal & Fmfor § guain B o aret st o & geue @6t 2l 82

Options:

1) Less than20

20a ws

2)20 to 60

20@60

3)60 80

60 go

4) Greater than 100

100 yfim;

Correct Greater than 100
100

Candidate Answer: Greater than 100

1007 i

QID : 102 - Which of the following is examined to determine the age of timber?



frefaf@a § & o i o awd! 1 9a Puifa s &

Options:
1) Annular ring

g o (srger Rm)
2) Sapwood
duge

3) Pith

s

4) Timber defects
#r

Correct Answer: Annular ring

Faamr R (srger R

Candidate Answer: Annular ring

e i (g ) fag t2

QID : 103 « Which of the following is determined with the twlp of Le Chateliers device?
Prfafra i & R Pufeor ot 32 (Le Chatelier) 5 9901 3 Wit & Rean s



Options:

1) Abrasion resistance
Y0 gAY

2) Chemical resistance
Travafye ufady

3) Soundness
e

4) Strength
s

Correct Answer: Soundness
%l

Candidate Answer: Soundness
Fon)]

QID : 104 « The type of mortar which is used for the construction works carried out water-logged area is—.-

arerres s o fmfor sl & frg ot £ o ared 52k @ var 8
Options:

I cement mortar

2)loose mortar

3)mortar of very low consisterwy fatal
4)mortar having hiZw/c ratio

Correct Answer: cement mortar

Answer. having high  ratio

QH).]%. wmggﬂde concrete, the split 1ensile strength in terms of percenta

M 25 2 @tz & forg, sl wfda ddftes amad & g= d Ruda g oy 8

Options:
1)7t0 1%
7811%

2)18to 28%
188388 the split tensile strength in terms of

percentage of its compressive strength is .

3) 28 to 38%
2849 38%
4) 3810 48%
383 48%

Correct Answer: 710 11%
7811%

Candidate Answer: 28 t0 38%
289 38%

QID : 106 - Distempers are generally usedtocoat ____,

AR W REWR H & du & fRrg wrai fasar oman &)
Option s:

;xqmpound wall
ars

2) external concrete surfaces
Hible gas
3) interior surface which are not exposed

St g ot gafawo & dud § 78 gt 2
4) wood works
Fomd & wmrd

Correct Answer: interior surface which afe notexposedto environmalt

Safes waE ot watawer & dod F 8 g &

Candidate Answer: interior surface whieh are not exposedto environment
Tafee Fag ot gataior & T § 78 gl ¢ P ed to environment

QLD : 107 « Which Of the fonowing is commonly used in cement?
F-q n;zn t?



Options:

%i%lphate
ggg‘psum
m;l;nf;:arbnde

Correct Answer: Gypsum
s

Candidate Answer: Gypsum
frers

QID : 108 - In the process of hydration of OPC, to complete all chemical reaction, the water requirement (expressed as the pefeéntage of cement) j —

SIfRA(OPC) & sreraterm(grsde) uidkar 7, @il wramafys ufafbarsd & gof e & g (dife & ofdws & wo ) ot 6 smasaaa 21
Options:

1)5t0 8%

588%

2)81016%
8A16%

3) 20 to 25%
208 25%
4) 35 to 45%
35R45%

Correct Answer: 20 to 25%
209 25%

Candidate Answer: 35 to 45%
35@45%

QID : 109 - The slump test is performed to check the

Sraara qRem (w 2%) & ot & g R o &)

5!
:&gesence of water in cement
# qrit f qufefa

2) ratio of concrete ingredients
fehte gt &

)
3) temperature resistance
A ufasty

4) workability of concrete
dvhre & agagrdan (

Correct Answer: workability of concrete
dhre &1 cgagrdan (ahfafed)
Candidate Answer: workability of concrete
hre H aagrdar (aFRAE)

QID : 110 - The reason behind the low expansion and shrinkage of the plywoodis ____
wTEEs & w0 ek ok Rgs & aro 2

5!
1) plies are placed at the right angles with each other
TS U ZAe & HHEI W ng n%

2) they are glued under the h-gh pressure

3) they are held in the poslﬂon with the help of adhesives
Forrae a1d e 16 & 141 R A ot
4) they are prepared with the help of veneers

dar R o §
Corroct Answer: plies are placed at the right angles with each other
Eé g g A Wt o vl onedl §
Candidate Answer: plies are placed at the right angles with each other
TS Uen gE & TR0 O = ot §

QID : 111 - Which one of the following method is used for the approximate estimation?
Frefafla @ ot O gl spnfia s & g mgin & ot 22



Options:

1) Both central line and Short wall and long wall method
&HATT T ok &Y AR oM Tt dar ggia <l
2) Central line method

& e ugfa

3) Plinth area method

&z & ugfd

4) Short wall and long wall method

&g AR AR @4 Har vz

Correct Answer: Plinth area method

¥ g ugfa

Candidate Answer: Plinth area method
@ vl

QID : 112 « Accuracy in the measurernent of the thickness of the slab or sectional dimension of column and beam
centimetre) should be

e & wiverd wn ww o dm & st omany (F#dter ) & o d wfewa g aifge
Options:

o.s

4) 10
Correct 05
Candidate Answer: O. 5

QID : 113 - Deduction at T-junction of the wall for total length of the central line is
&g T & o dad & fog ar £ -6 w R
Options:
1) half of thickness of wall
Erar & aterd & o
3_210 deduction
&t g

3) thickness of wall
i aterd

4) twice of the thickness of wall

witerd @1 g
Correct Answer: half of thickness of wall
are § mierd £ oeht

Candidate Answer: thickness of wall
& nkerd

QID : 114 « For estimation of painted area of semi ‘©fugatedashestos cement sheets, percentage increase in area above plain

area IS

anif reflar graeets | affe & 9 gu dh & g & fog, sram g dord e A nfwa gfg 2
Options:

1)0.1

2)0.14
3)0.2

4)0.25
Correct (0]
Answer: O. 25

QID : 115 - Scrap value of a property may be——-



Options:

Rt suf e omfe g diawmd)
Options:

1) both negative or positive

HUIEHE A1 YIS

%(;onstam

3) negative
FHUITHS

4) positive
YIS

Correct Answer: both negative or pggiixs
SIS U7 GATCHS St i

Candidate Answer: both negative of pgsitive
SOITEHE A1 AT 211



QID : 116 - What is the unit Of cornice?
ATy &t A & g Fm

Options:

1) Cubic metre

oA iR

2) Number

da&m

3) Running metre
zg-’m i

4) Square metre

af fiez

Correct Answer: Running fiétre
o ez

Candidate Answer: Running etre
o ez

QID : 117 - Calculate the number of bricks in 20 ¢'_mjc metres brick Works.
20 w1 #rex $z vl F £ i wwm & norn S|

Options:
1)500
2)1000

3)10000

4)100000
Correct Answer: 10000

Correct Candidate Angwer: 10000
QID : 118 - Calculate the area (square metre) of the formwork required for a beam of 2 m span and cross section gifffension0f400 mmy200 mm.

400 fAsfieftey x 200 Preffiez srpred e € R oik 2 e @ & v & R smawms 912 & dawe (20 fiex) 6t o Hifordy
Options:

1)0.8

2)0.16

3)1.2

4)2

Correct Answer: 2

Candidate Answer: 0.16

QID : 119 - The cross section areas of three sections of an embankment at an interval of 40 m are 10 square metres, 15 square metres and 35 square metres,
Calculate the quantity of earthwork for the embankment. Use prismoidal method.

40 IR & = R O aedy & s Rt A sy e o faee 10 29 e, 15 @ ofter ok 35 0 dfier @) sy & frg suat & md gy & o HifSa) Demnsfra fafa &
JuGT F)

Onptions:

1)1200

2)1400
3)1500

4)2400

Correct Answer: 1 4¢)() Correct An
Candidate Answer: 1200

QID : 120 - Calculate the annual depreciation (Rs.) of a machine titial cost of Rs. 10,000. The scrap valueisRs. 1, p . 10 hine having initial COSt Of
o wafts & anfifen e (3) ) morn DA e wrefs ara & qafdree e % 1,000 ok Fudtn w2} w1 wwm 30w and useful life Of 30 years.

Options: 1 OPOO.

1) 300

0367 3)

1333

4) 333333



Options:
Correct Answer: 300

Candidate Answer: 300

QID : 121 - What is the difference between the sum of interior angles of

surface?

gt ) g R gt & 195 7 Rreiefier 8w & forg e et & ai mangles Of plane triangle Eaw HREME? g spherical triangle for area Of triangle 195
Square on the Earth'S
1) one degree 9%

ft-rfi

2)  one minute

3)  second

4)  one radian
Correct Answer one second

candidate Answer. | NOT ANSWERED 1

QID : 122 - Which One of the following is the largest scale?
R dd s agd asr &2

Options:

1) 1:500

2) 1:1000

3)12500

4)1 80000
Correct Answer: 1 :500

Candidate Answer: 1:500

QID : 123 - The quadrantal bearing of the line lies in the third quadrant making angle in clockwise with the north is :

e T it et wguter A & ik e sie & vy 2iRvmad v @ @A & A o T Y e a3
Options:

1)

N(6-180)°E
2)

N(6-180)°W
3)

S(6-180)°E

4)

S(6-180)*W
Correct Answer:
S{6-180)°wW
Candidate Answer:
S(6-180)*W

QID : 124 - Calculate the volume of the embankment (in cubic metre) using trapezoidal method, if the cross section areas of the three sections of an embalkment at
an interval of 30 m are 20 square metres, 40 square metres and 50 square metres.

dedw & srmgas £t morar (97 ez F) arearar A @ i, aft 30 ez e w aedy & di Rt B gy w1 @ dawe 20 @9 fier, 40 @9 ez ofik 50 @ ez
Options:
1)1100

2)1150
3)2250

4)2350
Correct Answer: 2250

Candidate Answer: 1150

QID : 125 Which one is the CORRECT order of the tapes based on their accuracy?



1) Linen tape > invar tape > metallic tape > steel tape

2)Invar tape > steel tape metallic tape linen

> urd
3)Metallic t steel tape > linen > invar tape
4)Metallic t steel tape Invar tape linen tape

Correct Answer: Invar tape > steel tape > metallic tape > linen tape
Candidate Answer: Metallic talk > steel tape > linen tape > invar tape

T 24 > W11 20 > 16 20 > §IR 29

QID : 126 - In the leveling between two points A and B on the opposite sides of a pond, the level is first set up near the point A and staff readingon AandBare 2.5m
and 2.0 m respectively. Then the level is moved and set near the point B, staff reading on points A and B are 1.2 m and 1.7 m respectively. Calculate the difference of
heights between the two points A and B (in metre),

e §) Rrodta wae! oz Rl 2 Bgal A ol B & fia awae &3 6 afva 3, @ @ ugd fig A & ore waifa &2 @ g A 3R B ov s A amw: 2.5 fiew ok 2.0 st ot
2| o TR g B & ure & wew wfta w g T Hfdn wwan 1.2 diew ok 1.7 e andt 3] fig A 9w B & e S & ofaw & orr (sftee ) &9

Options:
10

2)0.5

4)1.85
Correct (6]
Candidate Answer: O. 5

QID : 127 - Calculate the combined Correction for Curvature and efraction(in m) for a distance Of 2 km.
2 reidter L & g awman ol sraadk (e #) & g dae ger & morn S|

Option s:
1) 0.045

2)0.135
3)0.269
4)3.14



Options:
Correct Answer: ().269
Candidate Answer: 0.269

QID : 128 - In transit theodolite, the line of the sight can be reversed by revolving the telescope through 4

St farEtarge |, & e @ 2R 6 T @ MRty aftwe g 3e e on e 2
Options:

1) 90° in horizontal plane

90° & awr A

2) 90° in vertical plane

90° etz ae

3) 180° in horizontal plane

180" Mawas d

4) 180" in vertical plane

180° iR & i

Correct Answer: 180" in vertical plane
180° Fe@afur a1 §

Candidate Answer: 180° in vertical plane
180" weafu 71 §

QID : 129 - Which one is the CORRECT sequence for the temporary adjustment of the theodolite?

fatetrge & srurd gardter & R &t @ aft w0 3

Options:

1) Centering, elimination of parallax, leveling, and setting
AT, FEA T I, G &,

2) Centeﬁnggnetting, elimination of parallax and leveling
e, #fén, Fam @ ImgEm, ol wnas g

3) Setting, centering, leveling and elimination of parallax
, i e, THAE Fe, AR da I

4) Setting, leveling, elimination of parallax and centering

Aftn, wwde &, A9 H I, dR Hika e

Correct Answer: Setting, centering, leveling and elimination of parallax

Afen, Fim awen, wwas a, R da w1 I

Candidate Answer: Centering, elimination of parallax, leveling, and setting
AT, AEA @l I, GHae &, A #HfE

QID : 130 - Which of the following is used for determining the location of station occupied by the plane 351"
frefaf@a 4 @ o adew oz & @ 817 & wm &) RufRa s & g gaa R sma 22

Erl%gthir;ﬁr?egtion z%%d radiation

2) Intersection method
ufdedz o

3) Radiation method
Rfdwo gomeht

4) Two point problem

foiz T (g iz oifeem)
Correct Answer: Two point problem
21 fifg T (g uiie uiem)

Candidate Answer: Two point problem
2 fi e (g dfée wiem)

2) Water QID : 131 « Which of the fonowing is responsible for the formation of residual soil?

G Prefaf@a § @ @ @ safde B2 & me9 & Ry Ger &2
3) Wind .
g Options:

4) None of I Glaciers
g g e

Correct Answ Correct Answer None of these
T A @i T

Candidate An Answer: Water
G



QID : 132 - The coefficient of gradation and the coefficient of uniformity of a given soil sample §g 1.0 and 4.0 respectively. The ratio of effective size to the
through which 30% of the total mass is passed is §

&t P & qes gt & g (R4) TUiies SiR YEEar uire: wae: 1.0 31 4.0 §) v an gl et & sy s, FOreds e @ germr o1 30% wiite famar
&

Options:
1) 1.25

2) 1.5

3)1.75
4)2
Correct Answer: 2

candidate Answer. | NOT ANSWERED I
QID : 133 - Which of the following shows the CORRECT order of

frafafde 3 @ o ot & 233 wae dawa & aft wa 5 Ramar &7

Options:

1) Clay < silt < sand < colloids

faadt At < mz < W<

2) Gravel < silt < colloids < clay

HHRS <ME < < Rft B

3) Sand < silt < clay < colloids

W < Mz < faai ) < Heige

4) Silt < gravel < colloids < clay

me < HHs < HaAEs <

Correct Answer: Sand < silt < clay < colloids
W < Mz < et ) < Feiee

Candidate Answer: Sand < silt < clay < colloids
W < 1z < Rt B < Fieiee Of increasing surface areas Of given

soil?

QID : 134 - What is the assumption made about back of wall. in the RankineS theory of earth pressure?
(Rankine) O; gia & &tare i 0ws & art 7 a7 uwon 2

I) Plane and rough
2) Plane and
smooth 3) Vertical
and rough

4) Vertical and smooth
Correct Answer: Vertical and smooth

Freafuz ok Raar

Candidate Answi
Fuatur o @1 Answer: Vertical smooth

QID : 135 Which of the following is CORRECT about the viscosity of gas?
Pr=faf@a F @ & & wra & ar d af@t 22

Option s:

1) Inversely proportional to the temperature
ATIAT & RSt uas

2) Increases with an increase in the temperature
A 7 gfZ & aryg ag arh

3) Independent of pressure

Za1 & o

4) lndegendent of temperature
A & =R

Correct Answer: Increases with an increase in the {gfapefadite
A # g & H 9 St

Candidate Answer: Inversely proportional to the temperature
anEr & squtas



Options:

QID : 136 « Pressure of 200 kPa is equivalentto the head of Z metre of liquid having relative density .59. The value Of Z (m) is—-
200 kPa &1 Zard 1.59 Wi g & e vard 6 2 dfier Favd & avar 8| z () wrwm )

Options:

1)11.6

2)11.82
3) 12.82

4)13.14
Correct 12.82 candidate Answer.
1 NOT ANSWERED 1

Prefaf@a 7 @ 3% 91 594 Ierad &z & a1 3 qE 8? QID : 137 - Which one of the following statement is
Options: A CORRECT about the centel of buoyancy?

1) Itis the point where buoyant force act,

OF a5 W ¢ TE1 Jeena a1 il Hedr g

2) It coincides with the centroid of volume of water displaced

gg Rrenfia arft 6 3 & &2 & F da @

3) Itis the point where buoyant force act, and It coincides with the centroid of volume of w

g I T & TE1 IATa oo &1 Tl ¢ AR ug Reenfa orft o aen & &g & gru e Ramr d Of volume Of Water displaced
4) It acts outside the body.

g ey & aTER 1 e 8

Correct Answer: It is the point where buoyant force act. and It coincides with the centroid Ofvolume OfWater
g 4% W § g1 Jeea a0 S Fvar § AR g Reufs orht f oen & 2wy Ae e @ displaced

Candidate Answer: It is the point where buoyant force act. and It coincides with the centrol
g ap T § Sl I a R et & R up Reenfa ot ) v & dz & wma d of e @ coincides with the centroid of volume of water

displaced

QID : 138 + A longitudinal rectangular surface is into the water such that its top and bottom points are at depth of I m and 6.0 m respectively. The depth of center
of pressure (m) from the top surface is

3*ui 1.5 6.0 «ra (ta)

2)42
3)46

4)4.8

Correct Answer: 42 candidate
Answer. | NOT ANSWERED 1

QID : 139 « The velocity potential wiich follow the equation of continuity is
Fiaan & witaRor &1 ures o are 3 ) e &




1)

2) x2-

y2

3)

cosx

4)

X+y?

C?mct ANSW:

x-y?

Candidate Answer. | NOT ANSWERED I

QID : 140 - At what distance from the boundary layer, the value fthe wall ¢

dr oxa A et g o, dhar & srosau o w1 Rggea srogor g i e 82

Options: Shear is three times Of the turbulent Shear?
1) 1/3R

2)1/2R

3)2/3R

Correct Answer: 2/3 R
CandidateAnswer: 2/3 R

@HD, 141 « Wikich BHRE FoNewiig Staldtieit 1S CURRECT apoutine strear  CORRECT about the stream lines and equipotential lines?

y=faf@a F @ &Y @ Hum ury Tansl iR wafava T & an d @ 22

Options:

1) Both can be drawn graphically for viscous flow around any boundary.
oft e & SR @ varg & @y T B o g @

2) Meshes formed by them are always squares.

A% Zr i Ry g anfer B &

3) They always meet orthogonally.

3 i waad Red &

4) They can be calculated for all boundary conditions.
gt o et wftar-zanadl F £ on w2

Correct Answer: They always meet orthogonally.
3 g waad ed §

Candidate Answer: Both can be drawn graphically for viscous flow around bound
zﬁtaﬁm‘ﬂaﬂmtmmm&m P om e @ any boundary

QID: 142-

The Rankine half oval body MM is subiected to
the two-dimensional flow havnq velocitvV The
typical stream is shown the following diagrarn.

The point A in diagram shows ;
{154 (Rankine) 34T 3SR a8 MM, V @

wy & yraeh vare & aefa ¢ e
Rt v fReafafaa 3w & feas a4 ¥
Iy # g A el ¥




Options:
1) point at which velocity is maximum
Sret A sifdaan &

2) separation point

U
%:taa'%:;tion point

4) stall poimt
wr fifg

%gﬂﬁgmm §1agRaldhpoint

Candidate Answer: point at L .
fg oref 3 ftraaw at which is maximum

QID : 143 « Whbch of the following is CORRECT ratio for Froude number?
Prefaf@a F @ @) &1 wiee Ha & g aft s 22

Options:

1) Compressive force to inertia force.

2)Inertia force to gravity force.
3)Inertia force to tension force.

4)Viscous force to "mertia force.
Correct Answer: Inertia force to gravity force.

Candidate Answer: Inert' a force to gravity force.

QID : 144 - For the most economical triangular channel section, the angle

wad R Retvfi 4 s & g, sefwr dzam usiwson 2
Options:

1)

30°¢

2)

45°

3
60°

4)

75°¢

Correct Answer:

45°

Candidate Answer:

60° Of sloping Sides from the
vertical is

QID : 145 « Method Of applying Water directly to the root Zone Of the plant jscalled
M & s da d i uref 23 K ogh Fgendt &

Options:
1) check flooding
e wafEn

2) drip method

zo ffy

3) furrow method
fafa

4) sprinkler irrigation
e ffard

Correct Answer: drip method
zwn fafa

Candidate Answer: furrow method
Fe R



QID : 146 - A field of SOO hectares is to be irrigated for a particular crop having 100 days base period. The total depth of water required by
the crop is 100 cm. Calculate the duty of the water (in hectares per cubic mere).

Rt & smur sl ard R RATTad 1) fa0 500 e bt F R P s &1 v difig GIFtqFfi
e Ry g 100 e 2] e ) el (sg8) 9 o

Opt

1)8.64

2)57.87

3)86.4
4) 864
Correct Answer:364

Candidate Answer: 57.87

QID : 147 - The traffic volume of a roadway is defined as the multiplication of-

U Tga o ATATard A A 3 on & w9 F aRfia R mar 2
Options:
1) speed and time headway
3 3k g H 1l
2) speed and distance way
g o

3) traffic density and speed
grarara g ok nfy

4) time head way and distance headway
g f nfy AR gl F ot

Correct Answer: traffic density and speed
TrarTd g AR afy

Candidate Answer: traffic density and speed
qrarTE g R A

QD 148 - Caifalidaedhe equivalent fadifs(C) O The [esiEtibSeetion 6F20 Cm §1ab, iThe Fatio oF radifor wheel Kok distibution 16 the thicknessofthe slabis2.
ofe; ufgd & wr e (dts Reagem) & fom sk wha § wterd & oo 2 2, @ 20 $hfier w1 & sadiu @ A waged Bom (F8der) & morn &)

Options:

1) 20

2) 35.6

3) 40

4) 40.9 Correct 40
candidate Answer. 1 NOT
ANSWERED 1

QID : 149 « On peak hourly demand, what is the maximum daily consumption for the city which have average daily consunption of 100000 ms
?

o 4reR & s 3 @d 100000 afa uzl 1 & R w sftrema 2R @ud wne
Options:
1)140000

2)170011'

3)200011'

4)270000

Correct 270000 candidate

Answer. | NOT ANSWERED 1

QID : I SO - For which of the following. distribution mains is designed?



Ffafaa § # e o e |rem dow G mn §2
Options:

1) Average daily demand

e%mtﬁgmﬂn'y

2) Annual peak demand
arfies firge wm

3) Monthly peak demand
aifde fRe 5

4) Maximum hourly demand on maximum day
Sifranam far av srfireram nfd wer v

Correct Answer: Maximum hourly demand on maximum
sifaman R v sflreas ofa e 7

Candidate Answer: Average daily demand
aivaa & am day

QID : 151 - Which of the following statements is true?
A. Most of the loads applied to a building are environmental load.
B.Most of the loads are dead followed by live loads.

Prafaf@a 7 & o o Fe a@t 82

A, §RE W HRE B A HREH & quazol gl
1) only A
FITA

2) Only B

FaaB
3)BothAand B
A 3R B 2t

4) Neither A pasia
Fftasikadéie
Correct Answer:
Fae B

Candidate mWer;B th A and
e othA EOnl

AsRB y B

QID : 152 « How loesan mcrease in the pitch of the roof affects the amount of load that can be placed on it?
9 & AR A i@ R weR @ 38 W A R Ft nwia Fea 8 S I8 9 @1 o d@war

Options:

1) ltincreases

2) It decreases
g & g o &
3) Remains constant
o g ward

4) Depends upon case

f&rfa R ffe e 2

Correct Answer: It decreases
gg &9 g e

Candidate Answer: Depends upon case
fafy w Rk wwa 8 t?

QID : 153 « What will be the rain load (in psf) if dsis 2 inches and dh is 1 inches?
MR dg 2 39 3R dy, 1 53 8, 7 auf wr (psf ) Rea

Options:
1), 5.2

21104
3)15.6
4)20.8

Correct 5.6 candidate Answer. I
NOT ANSWERED I
QID : 154 Concrete is;-



1) Good in compression, good in tension

2) Good in Compression. weak in

3)Weak in compression. weak in tension

4)Weak in cornpression, in
Correct Good in compression, weak in tension

Candidate Answer: Good in compression. weak in tension

QID : 155 « If in planar System, X parts/mernbers are there With Y no. Of forces. then condition for Statically determinacyi$:
U guaety P d, X wm/srga § e Y e d a9 aRifte & At su R & R ad 8-

Options:

1) Y <3%

Y<3X

2)Y>3X

Y > 3X

3) ¥=3X

Y= 3X

4) None of these

T & s

Correct Answer: Y= 3X
candidate Answer. NOT ANSWERED 1

QID : 156 - If a system has more equations of equilibrium than no. of forces. then the system is:-

o Frama # aal $ em $ g J§ anaraen F siftes e 8, & Fem -
Options:
1) Improperly constrained
sfE Fu R Psg
2) Partially constrained
ifdrs =9 A freg
3) Stable
wurdft
4) None of these
LENE
Correct Answer: Partially constrained
ifds w9 & feg
candidate Answer. | NOT ANSWERED I
QID : 157 - Wiiich Gffthe following material is not used hmakingrusses?

o g # e & & feg anaft @ guat 58 B s
Options:

1) Wooden struts
dd & @Y

t?

2)Metal bars

3)Channel
¥

4) Concrete
Fihre

Correct Answer:
e

Candidate Aps¥ er-Channel
¥ Concrete



QID : 158 - In a truss it is assumed that the members are joined by,

zad ag arn o B smma R g GE ER AR AR -

Options:
1) Rough pins
TR

2) Smooth pins
o fm

3) Either rough or smooth pins
1t g w e

4) None of these

¥R 3 arE Al

Correct Answer: Smooth pins
e fom

Candidate Answer: Smooth pins
ot i

QID : 159 - What is the major difference between truss and beam?
29 ot it e siew w2
Options:
1) Beam can't transmit load in vertical direction while truss can
saaa R o R wenfa T8 o wea @ wrafdh 7w o waar g
2) Truss can't transmit load in vertical direction while beam gaf,
Z9 daad B # vr vala 78 o g@ar & Fafs §0 & gadt 8
3) Beam can't transmit load in axial direction while truss can
o s wafa ) aw e & el o9 o) |Ea @
4) Truss can't transmit load in axial direction while beam can
79 efra faan 7 wr penfea 7 @ wwar & st @ & aed }

Correct Answer: Truss can't transmit load in vertical direction v
29 daaa R F wr gafa 7 o= g & oafd i masd 2

Candidate Answer: Beam can't transmit load in axial direction while tryss can
dn srefta Ran o s warRa 1l o e & oafds gw ar wwan @ While beam Can

QID : 160 - Given that J is no. of joints. B and R are no. Of members and no. Of reactions.
IfB=4,R=3andJ = 4. then the truss is:-

Ry @ B U Sitst & we @1 B ok R araaat ol wfafhansdt £ d=ar @
WRB=4,R=3RI=43 Azud-

Options:
1 ! Staticalg determinate
wu & aifdg
2E Staticalg indeterminate and stable
wu @ syl sk wardt
3) Stable
aurdt
4) Unstable
Sreurdt
Correct Answer: Unstable
St

Candidate Answer: Staticalz indeterminate and stable
wifts wa & affa ot

QID 161 « Which IS code gives details regarding water to be used in concrete?
gz ¥ i vy o1 gt ot & sed F @ 1S e R v e 82

Options:

1)1S 456
2)1S 383
3)IS 565

1S 3012
Correct 1S 456
Candidate Answer: IS 456

QID : 162 - Which Of the belcw is an example of plasticizer?



=@ § & o enfRaEsr & 9@ 3380 87

Options:

1) Hydroxylated carboxylic acid
m;{m-s wratsiadfas ans

2) Fluoro-silicate
wir-faferde

3) Gypsum
s

4) Surkhi
Correct Answer: Hydroxylated carboxylic acid
FEtsifRes uhax:%m e

Candidate Answer: Hydroxylated carboxylic apid
grEtsifaae mﬂofgﬂm aA ¢

QID : 163 « How many methods of batching of concrete are there?
Ffifite 6 A w3 & Rt Rl

Options:
1)2
2)3
3)5

4)6
Correct Answer: 2
Candidate Answer: 6

QID : 164 - Concrete is generally placed on a:

Fhie AR R fFe W v w8
Options:

1) Form work 1) F Orm

fafifa wnd

stmnd
3) Mould
Fii
4) Platform
Correct Answer: Form work

Correct Answ
fafifa ard Answer. Form work
Candidate An
ffifa wrd

QID : 165 The effective width of a column strip of a nat slab is taken as
e N el Rutpdf dedal Ao

Options:
I) one-fourth the width of the panel
2)half the width of the panel

3)half the diameter of the column

4 the diameter of the column
Correct Answer: half the width of the panel

Answer: half Width Of the panel

QID : 166 - Permanent dimension changes due to loading of concrete is termed as:

HHIE Brea & HRO A | 21 aren @t uRad wgerar

Options:
1) Strain



Correct Answ«: Creep

en

Answer: Creep
3) Creep
faedm

4) Ambit
affY
Correct Ar <
vt Options:
Candidate

fRrado

1) SN/mm?2

2) 2N/mm2

3)0.3N/mm?2
4)None of these

Correct Answer: None of these

Candidate Answer: None of these

QID : 168 « Flexure 1€M9thOf Concrete is determined as;
e F g7 amdd &) g s & Fuffa B sma @
Options:

1) Modulus of rigidity

& TUTieR
2) Modulus of rupture
L

3) Modulus of plasticity
nfRaEar qura

4) Modulus of elasticity
Correct Modulus Of rupture

Candidate Answer: Modulus of rupture

QID : 169 « Properties of concrete can broadly be divided into:
@i & g unien Tderr 7 e o gl &7

Options:

n

2)4

3)2

43
Correct Answer: 2
Candidate Amswer: 3

QID : 167 - In design of R.C.C. structures, the tensile strength of concrete is taken as:
SR . draead & o A, dafe & a ama o) e s R o 8

QID : 170 - Which IS code gives specifications about cement plaster?

@1 1S e Hi & wrag dan A Rfguda 9

Ontions: Opt
1) ISO0
2) IS 1221

3) IS 1400



QR 171 +In g lime-cement plaster, ratio 1:1:6 ¢

-z & e #, 1:1:6 Srura Rhad wgu glan &

Options:

1) Lime:cement:sand

o Wiz Ay

2) CementLime:sand
AT AT

3) Lime:sand:gravel

i S
ement:sand:grave

é{ﬂzz Iy, It .

Correct Answer: Cement:Lime:sand

dhiz: g g

Candidate Answer: Cement:Lime:sand

4) IS 1661 Correct IS 1661 candidate Answer. | NOT ANSWERED 1 HHe: F1: 1

QID : 172 - On Which of the following does the correct proportion of ingredients of concrete depend upon?

ol & @ B o ahte § aorft 1 ad sgora Pk s d?

Option s:
1) bulking of sand

e T Y

2) water content qvft®h! #FAT
3) absorption and workability

4) All option
Correct Answ% All option are correct

Candidate Answer: All option are correct

QID:173-

If X, Y and Z are fineness moduli
of coarse fine and combined
aggregates, the percentage (P) of
fine aggregates to

aggregates 1s

H AR, Foa AR ST gor &
qewan aonE X, YR Z &, o #de gw IR

gafSra gor &1 gfawa (P) @
zZ-X

1P = 2% x100
Z-y
2P = = x100
3P = £ ¥ 100
Xi2
AP~ — x 100
7Y
D1t only
2)1210nly
#Had 121

3)310nly

combined

corresponds to;



FHaAA131

4)141 only
FHad 4

Correct Answer: [2]
Faa 121 Only

CandidateAnswer: (21 Only

QID : 174 « Which of the fonowing statements is false?

frafaf@a § & a9 w1 &9 T 22
Options:
WOHEM I O'ThE OMAfSR With g 1M the moisture Content
%zﬁnmﬂq%sﬂ*m‘ 301 gmﬁmm%%
2) Concrete for which preliminary tests are conducted, is called controlled "
nufivas wlern B o & Frfaa e aeerd & conerete

3) Bulking of sand depends tg%: the fineness of grains
AT 7 R H01 6 FaTAT 0T w8
4) All option are correct

feen @ §
Correct Answer: All option are correct
vt e @ &
Candidate Answer: Workability of the concrete mix decreases With 5q the moisture Content
Mﬁmaq@mtm%tamﬁmmama anmerease

QID : 175 « Which of the following statements is false?
f=fafla Ff @ a8 @ Hus rea 82

Options:
1) Space between the exterior walls of a warehouse and bag piles should be 30
STy 1 A S ok A6 s 3¢ a1 e 30 990 e R
i2‘;I§’:lemen( bags should preferably be piled on wooden planks
& Q@ &) YR W At & Uzl o” @ W

3) Cement bags should be piaced such that bags of one layer does not touch fhe baos ofthe adjacentlayer
#{ﬂz%ﬁ?ﬁaﬁmmmmaﬁq&ﬁﬁﬁwmﬁﬁﬁmmaﬁame & !

4) None of these
R A
Correct Answer: None of these
T & @ T
30 cm
Answer: Cement bags Should be such that bags Of layer not tOLEh the bags Of the adjacent layer

iz & &=t =t g wer wa arn aifge & At trea DT ) STEF TG Y A @Y

QID : 176 « Which Of the dHowingStatements is false?



PefefRedd s s mea $?

Options:

1) With passage of time, the strength of cement increases
THY & 99, i

2) With passage of time, the strength of cement decreases
g9g & 91y, &1 g gear &

3) After a period of 24 months, the strength of cement reduces to 50%
24 mrg & srafe & ane, Whie & s # 50% i wft g w8

4) The concrete made with storage deteriorated cement gains strength with time
iz §Y rf ey wftte g aerd of Sfve e & ey avrdd org wf R

Correct Answer: With passage of time, the strength of cement increases
T & |y, Wiz & e F i gt 8

Candidate Answer: The concrete made with storage deteriorated cement gains §trength withtime
g 1 7 e wivie gy ard o defle aea & |1y aTe o @t @

QID : 177 - For a concrete mix 1:3:6 and water cement ratio 0.6 both by weight, w

e frsor 1,3:6 9t s dfe s 0.6 2T Wik g & g, ofd e sra fraen

Options:
1)10kg

10 faret
2)12kg

12 fnet

3)14 kg

14 st

4) None of these
T & ar Tl

Correct Answer: 14 ka
14

Canect Answer: 400 me of these
AR
Carggg;ynsw«: 100

100

QID : 179 - The compression in PSC is done byof high-strength tendons.

PsCH iz gmm-amudf et i zrifvarsmar @
Options:

1) Compression

waftes

2) Tensioning

BECicTa]

3) Shearing
HAEUY

4) Bending
dqw

Correct Answer: Tensioning
Coricrul

Candidate Answer: Tensioning
Eecicayl

by weight, What is the quantity Of Water per bag?
t?

QID : 178 - Transport of concrete by pumps. is
done for a distance of
99 g1 ke &1 aRas, Realt 8 & g Rear s &

Options:

1) 100 m

100 Hrz

2)200m

200 ez

3)300m
300300 stz
4) 400 m
400

Correct
400

QID : 180 - In which beam tension capacity of steel is greater than combined compression capacity of steel and concrete?

R Ffie F wuifaa
Options:
1) Over-reinforced
2) Under-reinforced

3) Singly

4) Doubly reinforced

Correct Answer: Over-reinforced

Answer.Under-rei



QID:181 .

If w 1s total load per unit area on a panel, D is the
diameter of the column head, L is the span in two
directions, then the sum of the maximum positive
bending moment and average of the negative
bending moment for the design of the span of a
square flat slab, should not be less than

IR Y99 W Fa AR JA FHE a7 WE, T & 3T7T(

o @1 s DB, @ Rumait # e L, A anfer

FAaw wad & e f Bonzw F @Ae Afwan
UATCH® ader Il I HomeHsE dFe gl &

raa &1 AP IHE HA AgT AT AT

AR BRleT)

2 2
WL 2D WL D
G- 022
10 3 12 3
Options:
1) A Only
FaAA
2) 8 Only
Fad B

3) C Only
F@C
4) D Only
FaaD

Correct Answer: C Only
Faac
Correct Answer: C Only candidate

Answer: | NOT ANSWERED |

QID : 182 - For a circular slab carrying a uniformly distributed load the ratio of the maximum negative to maximum positive radial moment is
wmmf&ammwéwﬁaﬁat%ﬁggﬁmumWWmmmmm

Options:
01

2)2
3)3

44

Correct Answer: 2 t
candidate Answer. | NOT ANSWERED 1
010: 183 -

If oermissible comoressive stress in
concrete is 50 kg/cm2, tensile stress in steel
is 1400 kg/cm?2 and modular ratio is 18, the
depth of the beam is



7 \
Options:
1) [1] Only

Sl ||

Fad121

3)]3] only
A 131
4)141 only

Correct Answer:

Candidate

0.4476SxB.M.

breadth
41d=

2) 12100y

Only

e 14l Answer: 141 On*

QID : 184  The breadth of a ribbed slab containing two bars must be between
2 g ant urdiar were Y dierd wad @ 8 e

Options:
[)6cmto 7.5

cm 2) g cm to

10cm 3) 10 cm

to 12cm

4) None of these

Correct Answer: 8§ cm to 10 cm

candidate Answer. I NOT
ANSWERED I

QID : 185 - A foundation rests on which of the following?

e FRORERIA @ Fra o o i 2

Options:

1) base of the foundation

+ffar @1 SR
2) sub grade
3u soft

3) foundation soil
At &

IR Fhe A HgAa FFdEa gfaaa 5

m’@m?vmﬁmwﬁw 1400

a2 & 3R gardm HaIa 18 4
ar dr i s R

0.11765xB.M.
1] d = \‘ breadth

0.22765xB.M.
2] d = \J breadth

0.33765xB.M.
3] d = \J breadth

4) Both Sub :gade and foundation soil
i e & B 2t

g Afor

Correct Answer: Both Sub grade and foundation
Iu Aft iz -ffa Ht B 2

Candidate Answer: Both Sub grade and foundation soil

aft ol ffa

31d - breadth



QID : 186 » Which Of the 2HowingStatements is true?
PR dd s o smaa
Options:
1) To ensure uniform pressure distribution, the thickness of the foundation is kept uniform thegtighout
mmmﬁmwgﬁﬂ%am & fog, +ffa & drerd ot ave R gaaar vt ot @
2) To ensune uniform ressure dlstnbuuon. the thickness of the foundation is increased gradually t¢
% forg, +ffa $r derd & ok & oz o gu R4 32 Rt ot 2
3)To ensurt;:;\zi:lonn gessure distribution, the thickness of the foundation is decreased g%fﬁﬂ!}"towardstheedge

GEI T % forg, e ) drerd F sk &) 3k o gy 4Rk wd
4) To ensure uniform pressure distribution, the thickness of the foundation is kepl zero at the edge
gaEr o faw gﬁga we & o, ol w e & derd g wft ot @

Correct Answer: To ensure uniform pressure distribution, the thickness of the foundation is dually t dsth
e 27 en o s o, e 8 e A e 4 o o g R ot o & CcreAsed gradsally tenwardsthe edge

Candidate Answer: To ensure uniform pressure distribution, the thickness of the foundation is raduany towards the
R <7 R AT e T, 4 9 <hart A B¢ 5 o g o i o o easedraduany towards the edge

Qio 1 87 - Tig weight of groundslion is assumed as which of the (gn@m'g
towards the edge
f=fafae F @ 3 e o s s @2

Options:
1) 5% of wall weight
& gur & 5%

2) 7% of wall weight
S & awm 7%

3) 10% of wall weight
& o & 10%

4) 12% of wall weight

ae & o &1 12%

Correct Answer: 10% of wall weight
&ar & a9 &1 10%

Candidate Answer: 10% of wall weight
&av s aoH & 10%

QID : 188 - If the width of the foundation for two equal columns is restricted. the shape of the footing generally adopted is
IR &} AR T & o e i e sfadfa 1 nd 8, 3 s w9 | snur @ s gt &

Options:
1) Square
azi u

2) rectangular
HaATER

3) trapezoidal
famw agfufta
4) triangular
faiofig

Correct Answer: rectangular
AT

Candidate Answer: trapezoidal
farem agfufra

QID : 189 - Maximum shear stress theory forthe failure of a material at the elastic limit is known as
wearey dr o anelt &t Rrgsera & @y siftean sioeaw nfdaa & 79 =9 F oft s e @
Options:

1) Guest’s or Trecas’ theory

e o1 2w Rgia

2) St.Venant's theory

He ta &1 fagia

3) Rankine's theory

i an Rgia

4) Haig's the

St

Correct Answer: Guest's or Trecas’ theory
e a1 dara gt

Candidate Answer: Haig's theory

dn i Rgha

010: 190 -



A simply supported beam carries a varying
load from zero at one end and w at the other
end. If the length of the beam is a, the
maximum bending moment will be

AT S A TR IR F HE R FT AR wi
3T ZHY B FT AR w il IR o7 Hr
warg a g A FAUFIH THa T g

Alg

wa?®

2
]M

v’fz
wa
D] —
I3
Options:

DA
omly

2)B only

3)c only
4)D only

Correct Answer: D Only

candidate Answer. | NOT ANSWERED I

QID : 191 - When not specified, the volume of steel in R.C.C. work is taken as:-
e e = 81, at el od & e v smaa s

Options:

1) 1% to 1.6% of R.C.C. volume
AT 1% A 1.6%

2) 2% to 4% of R.C.C. volume
T 2% H 4%

3) 4% to 6% of R.C.C. volume
A F 4% A 6%

4) 0.6% to 1% of R.C.C. volume
AT F 0.6% & 1%

Correct Answer: 0.6% to 1% of R.C.C. volume
et FET H10.6% d 1%

Candidate Answer: 2% to 4% of R.C.C. volume
HRT T 2% | 4%

QID : 192 - The ratio of maximum shear stress to average shear stress of a circular beam is:
A.2/3

B.3/2

C.3/4

D.4/3

garer 45 w1 sftaan sroeuo ufdas ol sitwa srosu aftes & squa &
A.2/3
B.3/2
C.3/4
D. 4/3
Opt s:

1) A only



FIAA
2) B Only
Faa B
3) C Only
Faac
4) D Only
FaaD

Correct Answer: D Only
FaaD

Candidate Answer:
B B Only

QID : 193 « The property of a material by which it can be beaten or rolled into plates, is called
ardt g o v 21 =R i R O TR I &4 O weed! &, waear &

Options:

I) ductility

agan

2) plasticity

A

3) elasticity

bacsind

4) None of these
R wid T

Correct Answer: None of thcqe
A @ FhE T8

Candidate Answer: ductil
Faan

QID : 194 « What is the limit to Poissods ratio?
ofger & srura 6 dfm @ 2

Options:

1)0.1

2)0.2

3)0.3

4)None Of these

Correct Answer: None of these

Candidate Answer: O. 3

QID : 195 « Among the following. which is least elastic?
Prfaf@a J § 27, v o uay g f2

Options:
I Iron

S
2) Copper
FHi

3) Both Copper gnd Silver
e 3R o

4) Rubber
s

Correct Answer: Rubber
REE

Candidate Answ¢
itz iR wora 2t Answer: Both Copper and Silver

QID : 196 « TWO bars Of different materials are Of the Same Size and
are 'ubjectedratio of modulius of elasticity of the two materials is

B. 4:10
C. 16:49



to Same tensile forces. If the bars have unit elongations in the ratio Of 4 ; 7. then the

Rifira et 1 2 o R o A § oIR 37 TR T a9 ae e fear e 81 af 5w ga Affaor s 47 5 & @ 2T it o v are i @ o

A. 47

B, 4:10
C. 1649
Options:

S 1) A only

2) B Only
Faw B
3)C Only
FaEC

4) None ofaggese

T A w

Correct Answ Correct Answer: None of these
TR A &1L 8

Candidate An Answer: A Only
FaaA

QID : 197 « If a campsite bar of steel and copper is heated, then the copper bar will be under:
uf? Tera oR iR ) wen o ) o 8, @ ahR B o gad oafa gt

Options:
I) tension 2)

shear

3 torsion

4) None of these
Correct Answer None of these

candidate Answer. | NOT ANSWERED 1
QID : 198 - Pick up the incorrect statement from the following : The tusional resistance of a shaft is directly proportional to
Frfaaa 7 @ nera s g aifte & adgetia wfadu s
Options:
1) modulus of rigidity
g ot
2) angle of twist
Hior

qHE
3) recllgrocal of the length of the shaft
gifor & st & egemmruT

4) moment of inertia of the shaft section,

Iz ST &l

Correct Answer: moment of inertia of the shaft section,
2iftre SrpsTT @t

Candidate Answer: reciprocal of the length of the shaft
giferz & staré & egemrT

QID : 199 - Net sectional area of a tension member, is equal to its cross section area—
TG G T G IR ARG, IqH Fa afe0s SAm |
Options:
mlus the area of the rivet holes
Rz & gl & dowa S g & aaR g 2

;{divided by the area of rivet holes

fode & et & dawa @t fAvafora v wra ey wmar @
:)'multiglied by the area of the rivet holes

Rz & 2T & ahaoer 3t 1on 2k T R wrar @

4) minus the area of the rivet holes
% AT W TeTaR W (& @

Correct Answer: minus the area of the rivet holes
i Rz & R & dawa & gera ura fBvar srar 8

Candidate Answer: minus the area of the rivet holes
& Az & 21 & shwa & geraR ure fear o 8




QID : 200 » When a tension member consists of two chamel sections. the allowance for rivet hole is made for two holes from
T a3t A9 I aE 1, Rde & Rz F Rt s ____- A1 R & g amar s @

Options:

1) each web

2)each flange

3)each web or one hole from each Range whichever is more

4)each neb Or one hole from each flange Whichever is less

Correct each web or one hole from each flange Whichever is less

Candidate Answer:



